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Name: Date: Period:

At what point is it appropriate to intervene in the affairs of other nations?:

Bay of Pigs & Cuban Missile Crisis

| Khan Academy: BAY OF PIGS INVASION |

Batista

What does JFK say about Batista?

1959 - Revolution against who? Led by who?

What happens when Fidel Castro takes over? (migration by who to where?)

April 1961 - Allen Dulles

* 1400 exiled Cubans

* Purpose of attack:

*  Wanted to make it look like...
What was the goal of the 8 bombers?

Did they accomplish their goal? Explain.

April 16 -
April 17 - The Real....

*  Why didn’t the invasion go well?
Why does the CIA blame Kennedy?
Why does Kennedy blame the CIA?

What did the invasion lead to:
1. Strengthened 2. Castor aligned with 3. Castro was open to



CUBAN MISSILE CRISIS

Top Secret Intelligence Packet #1

Notes:

So...Should we send another flight to gather more photo intelligence? WHY?

Top Secret Intelligence Packet #2

Alpha

Bravo

Charlie

Notes:

Are there nuclear
missile sites in Cuba?

Circle:YorN

Is there nuclear missile
supporting equipment?

Circle:YorN

What types of missiles
are present?

Notes:

Are there nuclear
missile sites in Cuba?

Circle:YorN

Is there nuclear missile
supporting equipment?

Circle:YorN

What types of missiles
are present?

Notes:

Are there nuclear
missile sites in Cuba?

Circle:YorN

Is there nuclear missile
supporting equipment?

Circle:YorN

What types of missiles
are present?

Top Secret Intelligence Packet #3

Notes:

Are the MRBM sites operational? Y or N

If they are, how much time is there between command and launch?




Kennedy’s Response: As you watch the video clip, take notes on what and
how Kennedy responded to the Cuban Missile Crisis. (6 bullet points)

What was a result of the

Cuban Missile Crisis?

USA (Kennedy) RUSSIA (Krushchev)
Response/Demands Response/Demands
1. Ordered a Navy . 1. USSRis with Cuba and
2. Demands USSR missiles be has every right to be there to
_ protect them.
3. US will Cuba if USSR 2. USSR is mad that we have missiles
doesn’t comply. in

Watch Clip from 13 Days

The Compromise

1. USSR will aggressive missiles from

2. USA will dismantle their missiles from

3. USA agrees to Cuba.
4. Thisis all done in , because the American people didn’t even
know about missiles.
5. USSRis because they had to retreat.
6. USSR a larger arsenal.

How is the Cuban Missile Crisis significant to the Cold War? (3 sentences)



